=
<

a(o @) (rad)
a(d cot(d))

102

....... 11 Hil PRSI L S

-1 0 1 2 3 -3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
—=— DQMstep3_TT_CKF

—e— DQMstep3_TT_default
—+— DQMstep3_TT_defaultNEWT3

|
w

|
N

- —~ 1
= 1]
5 5]
2 =
= =
< -
> o
o =2
3 ©

107}

B R X U AU 1 B O B N 1L 1) e
14f--- : : 3 1 :

Ratio

12 SRR

0.g!

] il ] L i 1 } :
0 1 2 3 =3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

~ 1

g :

o

D- .

=)

5
I I T

| [

010 2| | il | |

B E : i i | :

o 15------ E R EHA A sl meneeees
OO 113 s
3 5 5 ?"T 5 l
=3 -2 -1

0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


